(SP=23.25)

H: 0.141 MPa=141.0kN/m2
D: 625.0 mm
Dc: 625.0 mm
d: 600.0 mm
WF: 8.500 kN
L: 0.852 m
il: 0.14630 %
i2: 0.00000 %
0 ": 0.08382 =0 52"
0 : 45.00000 =45 0"0"
w": 9.0 kN/m3
w: 18.0 kN/m3
®: 30
Wo: 9.8 kN/m3
h: 1.880m
hl®: 1.280m
h2": 2.480 m
H3: 0.000 m
( ) Bsi: 1.200 m
( ) Bs2: 1.200 m
Lv: 4.800 m
Asl: 1.440
As2: 1.440
Asl®: -
L1: 1.854 m
La: 0.300 m
Lb: 0.300 m
F1: 1.00
( ) F2: 1.00
( ) F3: 1.00
u 2: 0.50
o rv: 100.00 kN/m2
We: 24.50 kN/m3
P*=2 H a c Sin(® /2)
=33.1084 kN
P*:
ac: (=D"2mt /4=0.3068 )
Wil=w hl" Asl
Wil=w hl" Asl
Wi= {w H3+w" (h1"-H3)}Asl
hl® H3
=16.5888 kN
W2= Wf (Ll+LatLb)/L + d®> m /4 (L1'+L2") Wo
=30.4509 kN
W3= {(As1+As2) (h2"-h1")/2-Dc2mt /4 L1} Wc","{As2 (h2"-h1%")-Dc2m /4 L1} Wc
= 28.4004 kN
U= {Vu+Ap (LatLb)} Wo
=18.7384 kN
Ws= W1+W2+W3-U
=56.7017 kN
U :
Vu: (=(As1l+As2)/2 (h2°-h1")=1.728 )
Ap: (=Dc™2 1 /4=0.307 )
W1: (
w2:
W3:
Ws:
Rhi=p 2 Ws
=28.3509 kN

Rh2= F1 1/2 Kp w BSL (hp->~hy+2)
Rh2= F1 1/2 Kp BSL { (hp-"-hy+2)-(u-w") (hpe—Hs)?}

Rh2= F1 1/2 Kp BsL { " (hp->-hy-2)+2(w-w") (hy-—hy-)H3}
hi* H3



=73.0944 kN

Rh= Rh1+Rh2
= 101.4453 kN
Rh:
Rh1: ( )
Rh2: (
Kp: (=tan"2(45+¢@ /2)=3.000)
Rh s P*"
101.445 49.663 kN Ok

S : (=1.5)

1

§ *= Tan “(i1/100)-Tan (i2/100)

= 0.08382 = 0.001463 rad
0 ":
P*=2 H a ¢ Sin(6 "/2)
=0.0633 kN
p®:
ac: (=D"2mt /4=0.3068 )
B =0.0000 %( ,
= 0.0000 =0 rad
B:
B
Ph= P* Sin(8 "/2+B )
=0.0000 kN
Pv=P* Cos(6 "/2+(3 )
=0.0633 kN
Ph:
Pv:
Rhi=p 2 Ws
=28.3509 kN
Rh2= F1 1/2 Kp w BS2 (hy->~hy+2)
Rh2= F1 1/2 Kp BS2 { (hp="-hy+2)-(u-w") (hpe—Hs)?}
Rh2= F1 1/2 Kp Bs2 { " (hp->~hy=2)+2(w-w") (hy-—hy-)H3}
H1 H3
= 73.0944 kN
Rh= Rh1+Rh2
= 101.4453 kN
Rh:
Rh1: ( )
Rh2: (
Kp: (=tan"2(45+¢@ /2)=3.000)
Rh s Ph
101.445 0.001 kN ok
S : (=1.5)
Wi'=w h1® Asl
=33.1776 kN
Ws™= WL"+W2+W3
=92.0289 kN
wit: (
Ws®: (

o vs= Ws"/As2
= 63.9089 kN/m2

O Vs:
orv s oVvs
100.000 63.909  kN/m2 Ok
S : (=1.0)

Rv= F3 172 w Lv p 2 (h2"=h;+2) Tan’(45 - /2)

= 32.4864 kN
Rv: (
RvtWs s Pv
89.188 0.076 kN Ok
S : (=1.2)

Ws: (



